SL'GL96 A+A+m+n+1)1E301L SL'GI9 ¢ S1'SI9¢6 (AL+ 1+ 11+ 1) 18301
(A) uonesue|nBou ap saydwos (A1) uonesuenBaa ep saydwon
9.°29¢ ¥ (A1) fe101, S1'S29S G196 (1) samqruedsig
9/'l98 v sesiaAlp seyaq () 1ezon
saJgloueuy sepsQq seaueas)
() s91pop spuoy $8INJLINO} J0 $HI0IS
(1) suojsinoiy JuenoLI Joy
6E'20€ | 1) 1e301 (1) 11301
¥0'00% (vousp) jeynsey laloueuy oy
er'202 1 nesAnou e poday jasodioa yyoy
SOAIOSeY |1e1odiooul Joy
XNe2IpuAs spuoy gsiliqowl) Jioy
1N 1N uoperdRidap je g
LN N fissed JuewessiHowy Moy
N N

L/} obed

62:2h: L} € £102/20/80 31 9919u9b uonip3 - OWISOD

CHZiiLg ne Z1/L0/10 Np epougd

SINOT LS TVLSINO ANAS

3 esineq

uonipedal Jueae gydwis uepg

LOLSWD




v0'00¥ Ppea - neyqep epjog uepgox3 : Ineypesd epjog
00'vSZ Z (A1 + 10+ 11 +1) je30L yo'vs9 Z (A +m+1+1) =301
(A1) sinapigjue sas|oiexd

86p S29s[(|In uou sesinosses sep podey (A1) Juoweoueuy ap uopnqUOd
- JueWwasURUY ep suolINgGIUC) ins lesyee. e syuswefeBugy
() sisuuopdasxe synpoid () sajeUUOpdasxe sabieys
(1) s19)ouRUY SYNpOIY (11) sesg1oueUY SObiey)
suoIs|A0Id }9 SjuaIISSIHOWE XNE SUOKEI0Q
sabieyo sanny
suoisirold S8p Je sjuswassiHowe ssp sasuday [suuosiad ap sabieyn
SY'pS6 sabieyo ap pajsues) saxe} ja sjodw)
synpoud sanny vi'€08 L SINSUIIXD SIAIDS SNy
SUopUaAQNS 58'G6Z sawa)xs sabieyo sanny
SG'662 L Suojesijon SY'vSS sjeyoy
(1) uopeyoidxe,p synposd (1) uoneyjojdxe,p sebieyn

N N s)npoid N sableyn
L/ ebeg 20:0t°L | B £102/20/80 of 2949u9b uonip3 - OWISOD
CL/ZHLE NB Z1/L0/L0 NP epousd SINOT 1S “TVLSINO ANAS
3: osmaq ayiidwis jejnsaa ap aydwosn LOZSND




